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True or ‘False ?

False

Angles on a straight line sum to 180° so if b is
25° then angle @ must be 155°.
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firue or False ?

True

It is an equilateral triangle.
There are three small equilateral triangles on each
side of the large triangle meaning that the sides on

the large triangle are all the same length.
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frue lor False ?

True

40° + 90° + 50° + 130° = 310°
360° — 310° = 50°

or

180° — 130° = 50°
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“ r (T-) or F q ‘ s e ? Angles in a triangle - missing angles

False

The missing angle is 20° because it is an isosceles triangle. The

two equal angles are 80° leaving 20° left.
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frue or False ?

True

All 3 angles sum o 180°, 180 — 90 = 90
leaving 90° for the other 2 angles.
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